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Q.1

Note : 1) All Questions are compulsory.
2) Figures to right indicate marks.
3) Kindly support your answers with suitable example.

A) Explain the concept of Authority and its types with suitable example.

Q.2. Answer the following (Any one set)

Q.3

A) What are media Studies?

B) Explain the qualities and powers of agenda setting theory.
OR

C) Describe the term “Infrastructure”.

D) Discuss the New Man and its features

Answer the following (Any one set)
A) Explain the important roles of media in political culture.

B) Describe the approaches of media in Indian religion

OR
C) Explain the challenges to contemporary media.

D) Explain the observational learning

Q.4. Answer the following (Any one set)

Q.5.

A) Describe in detail about Two-Step Flow Theory.

B) Explain the future of Diaspora Media
OR
C) Discuss about historical perspectives of media.

D) Comment on “Consumerism is beyond advertising”.

Write Short Notes on (any Three)
1) Public Opinion
2) Medium is message
3) Motivation
4) Online collaboration tools
5) Uses and gratification
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